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1. A& 1,500 1,500 0
2. 2 A E 20,250 20,250 0
1.9 1,040 1,040 0
2. 5| 19,210 19,210 0
4.98% w&EE 50,874| 44,548 6,326
1.5 8w 9o 45 19 26
1.9 353 ueqg 45 19 26
1.7 38w 7 AL 45 19 26

0] 919 2022 064 29 114] 163 38% 14 A7 =n g7 wjEe&F st



20223

of AR F723] (ch9l 1)
A A4 | A4 | W o] = (4]
49w | An Avgs  gagqus | S Rt g HEIEC
LA R 45 19 2% igﬁ;_z%)[%]i%y‘é +3,25090-1%8 26,000
2. 58% 44,829 44,529 300
1.5M2529 44,829 44,529 300
1. =474 23,384 23,384 0
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1. Yuksegn) 500 500 0
2. 2979 5,000 5,000 0
3. &g 1,100 1,100 0
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1.duke &1 7,500 7,500 0
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